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QUESTION 1

What does an association specify? 

A. tuples that are not links 

B. relationship among models 

C. links between associated types 

D. links between instances of associated types 

E. links between instances of untyped classes 

Correct Answer: D 

 

QUESTION 2

What does the arrow end of a dependency relationship indicate? 

A. more general classifier 

B. element initiates communication 

C. whole in a whole-part relationship 

D. client element is affected by a change in the supplier element 

E. supplier element is unaffected by a change in the client element 

Correct Answer: E 

 

QUESTION 3

In UML, what is the behavior of an object caused by? 

A. a call 

B. a trigger 

C. an event 

D. an operation 

E. an event type 

Correct Answer: C 

 

QUESTION 4
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Let us denote sending of p as !p and receiving p as ?p. Which trace defines the interaction N in the exhibit? 

A.  

B.  

C.  

D.  

Correct Answer: C 

 

QUESTION 5

Which arrowhead shows that the message represents an operation call, rather than a signal, in UML 2.0? 

A. Option A 
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B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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